AP Calc BC Spring Break Exam Answers
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9. glx)= I_,I"U}d'f g'(x)= f(x) So g is greatest when g' or f changes from + to -. This occurs atx = 1.
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14. The graph of f changes concavity in (0,2) because the second derivative goes from positive to negative on
this interval.
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79, If E”.. converges to k, by the integral test, j Fixkfx converges E
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80. f'(x)=x"cos(x’) >

graph f"(x) using your calculator - it changes signs (crosses x-axis) 5 times from (-2 to 2) @
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82. If E”.. diverges and (0 < g <h for all n, which is true? By the direct comparison test, Ehﬁ diverges IE
83. What is area enclosed by y=x"—8x" +18x—Sand y=x+3
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. Noc, =2<c¢<2 for which f'(¢)=0
Therefore, Rolle’s Therom is violated. So either f'not continuous or not differentiable. Since it is given that
fis continuous, then it is not everywhere differentiable -, f'(k)does not exist.
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x

- B(x)=g(f(x))
Bi(x)=g'(f(x)f(x)

ped =g s =g 3)-(-1)5)--; B



